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ENGLISH VERSION

Instructions : (1) Main three questions are given.

(2) All questions are compulsory.
(3) Write answer as per instructions.

(4) Figure to the right indicates marks.

1  Answer the following questions in brief : 8
(1) Define : Algebric expression.
@2 If A=1{a, b, c, B={1, 2}, then find A x B and B x A.
3) If two supplementary angles are congruent then measure
of each angle would be __ ?
(4) If -2 is the corresponding number of x and if xy =5 then find

the corresponding number of y.
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Answer any four of the following questions : 12

— 14
Show that 2237 can be represented as ; form.

ZAOC and Z£BOD are vertically opposite angles.

MZAOC=a+20 pf/BOD=2a-50 and A—O-B, then find
M ZAOD .
If U={x/xeN,x<10}, A={2x/xeN,x<5} and

C={1,3,4,5} then find (4UB)' and (4nB)'.

Obtain quotient and remainder when polynomial
p(x):x4+4x3 —3x% —x+1 is divided by x-1.

If point (2,3) is present on graph of equation 2y=ax+10,
then find the value of a .

Answer any three of the following questions in detail : 15

If 4={6,8,10,12,14}, B={8,9,10,11,12,13} and
C={7,8,9,10,12,14} then prove that

(AmC)uB:(AuB)m(BuC).

Prove that

(J?H)(i‘/hl) (§/¥+1)(§/¥—1):x—1

If a+b+c=6 and a2 +b2+c? =60 then find ab+bc+ca and

a3 +b3 +c3 —3abc-

Prove that for any triangle, the sum of measures of all angles
is 180°

Write five postulates of Euclid.
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